Probability of two or more players flopping strong hands

Flopping things ...

Probability

Formula

Sef over set

. . . 11.8% A8 a0y —1

Flopping a set or better with a pair (1:75) 1— ( 5 % (_,{)
-5 . [ —1
Being dealt a pair and flopping a set ;GE:Z; 13 % 6 x (’;) * (1 — (4:5) % {?) )
. 1.06% ' 5001

If two players have a pair, both flop a set (1:93) 232 %46 % (3]
Two players are dealt a pair and both flop a set (heads- 0.003518% | 3 13 Ry —1 4oy, —1 47y —1
Twao players are dealt a pair and both flop a set (full- 0.127% 3 13 5oy —1 0 4oy —1 47, —1
ring) (1:789) 1 x(:j)x(:i) < (5) x9x (5) 7 x6x (%)

Set over set over set

: 0.0463% a8y —1
If three players have a pair, all flop a set 02161 2x2x2x (d)
Three players are dealt a pair and all flop a set (3 player | 0.00001066% | 15 53—l gy =1 4T =1, 45y —1
table) (1:9,379,926) 4 x(:_l]x(:]} XJx(z} xhx{j) ij(2:]
Two players are dealt a pair and both flop a set (full- 0.0008955% | . 13 s —1 o T R T 45, 1
ring) (1:111,665) P (3) = (5) x5 x9x(5)  x6x(3)  x3x(3)

Quads over quads

up)

(1:11.255912)

- . . ) , 0.816% 1% 50y —1
Hitting quads with a pair until the river (:122) (%) % (%)
) . . . 0.002077% 50y — 1
If two pl h . both hit quads until th v
o players have a pair, both hit quads until the river (1:48,153) 14 x {})
Two players have a pocket pair and make quads (heads- | 0.000008884%

132 % (D x 44 x (3B) 7 x2x ()T (9)7

2 2

Twao players have a pocket pair and make quads (full-

ring)

0.0003198%
(1:312,663)

132 % ()% x 44 x ()7 x 92 x 2 x (1)

(@)

Flush aver flush

Flopping a flush with two suited cards :::8‘1‘21‘:] [:13]) X (55:]) !

Being dealt suited cards and flopping a flush ;1952‘3 [:1;) x 4 x {"j) . (];} % {53)_1

If two players have suited cards, both flop a flush ;::4323‘; [:g) X (?j !

;I'ha-zzﬂi};jrs are dealt suited cards and both flop a flush 1{]11]{:5913;;? (13) % (55) -1 % (Ig[}) (129) -1 « (2) y (.127)—1
Eﬁglg@rs are dealt suited cards and both flop a flush :::112?:] [:1:;5) w4 % (5;2) 1 . (g) % (120) . (125]) 1 y G) . (a:j) 1

Flush over flush over flush

. 0.231% T 46y —1
If three players have suited cards, all flop a flush (1: 433) (%) x (q)
Three players are dealt suited cards and all flop a flush | 0.00007774% | 3, I T aoy =1 an-1 5 a5y —1
(3,0!0}’31”{{]@'?) [1:1.286,389} (5:]>(‘1X[:;) x(ﬂ. X(Z) X(Q)X{E) X(Z}x(’j)
Three players are dealt suited cards and all flop a flush 0.006530% L s =1 ow 10 qon—1 _ om s 45, —1
(full-ring) (1:15313) () xax () = (= () =< (5) = Q) = () =) = (%)

heads-up: playing against ane opponent; full-ring: playing at o table with 9 players




